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Nome: Encontro: Data: Pontuagdo:
2,042 x 100 = 10, 639 x 1000 =
10,943 x 100 = 2,387 x 100 =
4,99 x 100 = 9,013 x 1000 =
1,257 x 10 = 8,956 x 10 =
1,297 x 100 = 3,624 x 100 =
4,482 x 10 = 4,095 x 100 =
10, 115 x 100 = 6,303 x 100 =
2,368 x 100 = 1,699 x 1000 =
4, 685 x 1000 = 6,749 x 1000 =
5,633 X 10 = 5,711 x 10 =
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Nome: Encontro: Data: Pontuagio:
2,042 x 100 = 204.2 10, 639 x 1000 = 10639
10,943 x 100 = 1094.3 2,387 x 100 = 238.7
4,99 x 100 = 499 9,013 x 1000 = 9013
1,257 x 10 =12.57 8,956 x 10 = 89.56
1,297 x 100 = 129.7 3,624 x 100 = 362.4
4,482 x 10 = 44.82 4,095 x 100 = 409.5
10, 115 x 100 = 1011.5 6,303 x 100 = 630.3
2,368 x 100 = 236.8 1, 699 x 1000 = 1699
4, 685 x 1000 = 4685 6, 749 x 1000 = 6749
5,633 x 10 = 56.33 5,711 x 10 =57.11
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